112 F< 4 2FMpERF R

® ==> R6

#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)

1 NS: SREGR BI328#®GH0) -3 7 NS: PRE58E SR{_(BAC) -3 VP:| 10.00 : 10.00 | Total VP: 69.87 Rank:
EW: BEEISZ FREEAC) 3 EW: Rk BRHEE(BAO) 3 IMP:| 8 . 8 5
— I
# 17 » K96 1NN1 90 Mean: 1NN2 120 3.0 2 [[#18 » 186 3SS3 140 Mean: 3SS3 140 40 3
v A97 3HW-150 10  1NN1 90 20 4 v 94 3SS-1-100 0 2883 140 40 2
+ AKJ75 Dif: 40 NS:2  3HW-1 50 1.0 1 ¢ Q7643 Dif: 240 NS:4 1SS3 140 40 1
» Q8 IMP: 1 EW:-1 2HE-1 50 1.0 1 » Q53 IMP: 6 EW:3 2SS2 110 3.0 1
s J3 a AT72 1NN-1 -50 20 2 ||as A543 a2 3HW-1 50 20 1
v T543 v KQ86 3NN-2 4100 -30 1 ||v QT862 I v J5 38S-1 100 -3.0 1
+ Q6432 *8 2HW2 110 30 2 ||e A9 ¢ KT85 3CE3 410 3.0 1
» K3 » A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 100 -3.0 1
®+VSN 4 Q854 % ¢ VAN 4, KQJI7 4SS-2 200 -50 3
N 11~11 9J2 N ~~~2~ 9 AK73
S 11~11 ¢7T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W ~~2~~ W 3~1~~
# 19 » AT54 3NN-3 -150 Mean: 4HXW-3 800 13.0 1 ||# 20 a6 4SW4 -620 Mean: 4SW-1 100 110 1
v K87 3DN4 130 30  4DXN4 510 10.0 1 v AJ98 4SW4 -620 -400  3SW4 170 6.0 4
+ KJ653 Dif: -280 NS:-5 4DS4 130 3.0 1 ¢ AKT76 Dif: 0 NS:-6 2SW4 470 6.0 1
&5 IMP: -7 EW:-3 3DN4 130 3.0 2 & QJ5 IMP: 0 EW:6 3SW5 200 50 1
#» K9876 a J2 3NN-2 100  -40 1 ||a AK8432 ~ QT9 4swa 620 -60 5
v JT953 v Ad42 2NN-2 100  -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
. * QT92 3NN-3 4150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
& KT7 » QJ92 2NS-3 150 50 2 ||s6 & A98732
F*e¢VAN Q3 oo VAN 4, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4~~~ ¢ A874 S ~11~~ 4985
E ~~1~~ &A8643 E 1~~42 a&KT4
W ~~2~~ W 1~~42
# 21 » AQ9 3HE-4 200 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 4SS4 420 Mean: 4SS5 450 40 5
v 743 3CN6 170 240  3NS3 600 80 1 v AT7 4SN5450 310  4SN5 450 4.0 1
¢ 52 Dif: 30 NS:-1  3NN3 600 80 1 . Dif: -30 NS:3 4SS4 420 3.0 3
» AQJ97 IMP: 1 EW:2 1NS7 270 1.0 1 » QT974 IMP: -1 EW:-4 3NS4 430 3.0 1
» K874 s J5 4HE-5 250 00 1 ||s AQ7 # 96 3DXE-1 200 3.0 1
v T965 v AQJ82 3HE-4 200 1.0 1 ||w 96 — v QJ843 558-1 50 8.0 1
+ Q93 ¢ J64 3CN6 170 20 1 ||e J532 + QT976 48S-1 50 8.0 1
» K2 » T85 4CN5 150 -3.0 1 || J863 » K 4SN-1 50 8.0 1
¢ VAN 4T632 3SN3 140 30 2 FOVAN o, JT4
N 45~42 9K 3CN5 150 30 1||N 5~~55 o K52
S 45~ 42 ¢ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
E ~~~~~ » 643 48S-1 100 -80 1||E ~~~~~ & A52
W ~~~~~ 3DS-1 100 -80 1 ||W ~~~~~
# 23 QJ 4SE5 -650 Mean: 2SE4 470 100 1 ||# 24 o AKJ72 3NS4 430 Mean: 6CN6 920 11.0 1
v KJ652 4SE5 -650 -610  3SE5 200 9.0 1 v2 5CN6 420 400 5CN6 420 1.0 3
* Q9 Dif: 0 NS:-1 4SE4 620 00 2 ¢ 8 Dif: 10 NS:1  3NS4 430 1.0 3
& AQJ9 IMP: 0 EW:1 4SE5 650 1.0 7 & AKQT73 IMP: 0 EW:-1 5CN5 400 0.0 3
» 82 ~ AKT9754 4SE6 680 -20 2 ||s Q86 ~ 954 3NS3 400 0.0 1
v QT983 + v A4 INXN-4 1100 100 1 | |v KQB5 v AT43 1SN6 230 50 1
¢ AK73 o T + KQ974 ¢ T52 4CN6 170 6.0 1
& K8 S » T65 a4 » 982 2NS3 150 6.0 1
o ¢VABN 463 oI VAN 4T3
N11~~~e7 N 6~~64 vJ987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~




112 F< 4 2FMpERF R

® ==> R6

#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)

2 NS: JRAHE ZE$EER(FHO) 30 9 NS: B3k = EARIE(FAC) -8| VP:[ 19.62 : 0.38 | Total VP: 70.37 Rank:
EW: B BUE SRS EIC) 8 EW: &|FZ [R#1<F(BAO) -3| IMP:| 40 : 1 4
— I
# 17 » K96 1NN1 90 Mean: 1NN2 120 3.0 2 [[#18 » 186 2SS3 140 Mean: 3SS3 140 40 3
v A97 ANN-1-50 10  1NN1 90 20 4 v 94 1883140 0 2883 140 40 2
+ AKJ75 Dif: 140 NS:2  3HW-1 50 1.0 1 ¢ Q7643 Dif: 0 NS:4 1SS3 140 40 1
» Q8 IMP: 4 EW:2 2HE-1 50 1.0 1 » Q53 IMP: 0 EW:-4 2SS2 110 3.0 1
s J3 a AT72 1NN-1 -50 20 2 ||as A543 a2 3HW-1 50 20 1
v T543 v KQ86 3NN-2 4100 -30 1 ||v QT862 I v J5 38S-1 100 -3.0 1
+ Q6432 *8 2HW2 110 30 2 ||e A9 ¢ KT85 3CE3 410 3.0 1
» K3 » A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 100 -3.0 1
®+VSN 4 Q854 % ¢V AN 4 KQJI7 4SS-2 200 -50 3
N 11~11 9J2 N ~~~2~ 9 AK73
S 11~11 ¢7T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W ~~2~~ W 3~1~~
# 19 » AT54 4DS4 130 Mean: 4HXW-3 800 13.0 1 ||# 20 a6 4SW-1 100 Mean: 4SW-1 100 110 1
v K87 2NS-3-150 30  4DXN4 510 10.0 1 v AJ98 3SW4 -170 -400  3SW4 170 6.0 4
+ KJ653 Dif: 280 NS:3 4DS4 130 3.0 1 ¢ AKT76 Dif: 270 NS:11 2SW4 470 6.0 1
&5 IMP: 7 EW:5 3DN4 130 3.0 2 & QJ5 IMP: 7 EW:-6 3SW5 200 50 1
#» K9876 a J2 3NN-2 100  -40 1 ||a AK8432 » QT9 4swa 620 -60 5
v JT953 v Ad42 2NN-2 100 -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
. + QT92 3NN-3 4150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
& KT7 » QJ92 2NS-3 150 50 2 ||s6 » A98732
F*e¢VAN Q3 oo VAN 4, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4~~~ ¢ A874 S ~11~~ 4985
E ~~1~~ &A8643 E 1~~42 a&KT4
W ~~2~~ W 1~~42
# 21 » AQ9 3CN5 150 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 3NS4 430 Mean: 4SS5 450 40 5
v 743 3DS-1-100 240  3NS3 600 80 1 v AT7 4SS5450 310 4SN5 450 4.0 1
¢ 52 Dif: 250 NS:-3 3NN3 600 80 1 . Dif: 20 NS:3 4SS4 420 3.0 3
» AQJ97 IMP: 6 EW:8 1NS7 270 1.0 1 » QT974 IMP: -1 EW:-4 3NS4 430 3.0 1
» K874 s J5 4HE-5 250 00 1 ||s AQ7 # 96 3DXE-1 200 3.0 1
v T965 v AQJ82 3HE-4 200 1.0 1 ||v 96 — v QJ843 558-1 50 8.0 1
+ Q93 ¢ J64 3CN6 170 20 1 ||e J532 + QT976 48S-1 50 8.0 1
» K2 » T85 4CN5 150 -3.0 1 || J863 » K 4SN-1 50 8.0 1
¢ VAN 4T632 3SN3 140 30 2 FOVAN o, JT4
N 45~42 9K 3CN5 150 30 1||N 5~~55 o K52
S 45~ 42 ¢ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
E ~~~~~ » 643 48S-1 100 -80 1||E ~~~~~ & A52
W ~~~~~ 3DS-1 100 -80 1 ||W ~~~~~
# 23 QJ 2SE4 -170 Mean: 2SE4 470 100 1 ||# 24 » AKJT2 5CN5 400 Mean: 6CN6 920 11.0 1
v KJ652 4SE5 -650 -610  3SE5 200 9.0 1 v2 2NS3 150 400 5CN6 420 1.0 3
* Q9 Dif: 480 NS:10 4SE4 620 00 2 ¢ 8 Dif: 250 NS:0 3NS4 430 1.0 3
& AQJ9 IMP: 10 EW:1 4SE5 650 1.0 7 & AKQT73 IMP: 6 EW:6 5CN5 400 0.0 3
» 82 ~ AKT9754 4SE6 680 -20 2 ||s Q86 ~ 954 3NS3 400 0.0 1
v QT983 + v A4 INXN-4 1100 100 1 | |v KQB5 v AT43 1SN6 230 50 1
¢ AK73 o T + KQ974 ¢ T52 4CN6 170 6.0 1
& K8 S » T65 a4 » 982 2NS3 150 6.0 1
o ¢VABN 463 oI VAN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~
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#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)

4 J3

v T543
+ Q6432
& K3

Smnz
1! =
1 1 ==
[SINRER IR |
1 l1=a=aP
1Ll =azz

# 19

K9876
JT953

SmMmnZ e<cd>
(IR I IR e
[N ]

N1 1 4
trie

trr e Z

NS: #A5R 483ZGHO) -19 11 NS: #F 5 BREE(BAC) -5 VP:| 4.77 15.23 | Total VP: 54.34 Rank:
EW: HRELNE TRIEEEAC) 5 EW: ERFfZ STRM(BAO) 19 IMP:| 13 28 8
I —
» K96 2HW2 -110 Mean: 1NN2 120 3.0 2 [[#18 » 186 3CE3 -110 Mean: 3SS3 140 40 3
v A97 2HE-150 10  1NN1 90 20 4 94 3SS3140 o0 28S3 140 40 2
+ AKJ75 Dif: -160 NS:-3 3HW-1 50 1.0 1 + Q7643 Dif: -250 NS:-3 1SS3 140 40 1
» Q8 IMP: -4 EW:-1 2HE-1 50 1.0 1 » Q53 IMP: -6 EW:-4 2SS2 110 3.0 1
s AT72 1NN-1 50 20 2 ||a A543 a2 3HW-1 50 20 1
v KQ86 3NN-2 100 -3.0 1 ||v QT862 I v J5 38S-1 100 -3.0 1
*8 2HW2 110 30 2 ||e A9 + KT85 3CE3 410 3.0 1
» A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 100 -3.0 1
» Q854 % ¢ VBN 4 KQJI7 48S-2 200 -50 3
v J2 N ~~~2~ o AK73
¢ T9 S ~~~2~ ¢J2
& JT952 E 3~1~~ &A6
W 3~1~~
» AT54 3NN-3 -150 Mean: 4HXW-3 800 13.0 1 ||# 20 a6 3SW4 -170 Mean: 4SW-1 100 110 1
v K87 3NN-2-100 30  4DXN4 510 10.0 1 v AJ98 4SW4 -620 -400  3SW4 170 6.0 4
+ KJ653 Dif: -50 NS:-5 4DS4 130 3.0 1 ¢ AKT76 Dif: 450 NS:6 2Sw4 470 6.0 1
&5 IMP: -2 EW:4 3DN4 130 3.0 2 & QJ5 IMP: 10 EW:6 3SW5 200 50 1
a J2 3NN-2 100 -40 1 ||s AK8432 » QT9 4SW4 620 -60 5
v A42 2NN-2 100 -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
* QT92 3NN-3 150 -50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
» QJ92 2NS-3 150 50 2 ||a6 » A98732
» Q3 oo VAN 4, J75
v Q6 N ~11~~ o T652
+ A874 S ~11~~ 498
& A8643 E 1~~42 a&KT4
W 1~~42
4 AQ9 4HE-5 250 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 4SN-1 -50 Mean: 4SS5 450 40 5
v 743 3SN3 140 240  3NS3 600 80 1 v AT7 4SS5450 310 4SN5 450 4.0 1
¢ 52 Dif: 110 NS:0 3NN3 600 80 1 * Dif: -500 NS:-8 4SS4 420 3.0 3
& AQJ97 IMP: 3 EW:3 1NS7 270 1.0 1 & QT974 IMP: -11 EW:-4 3NS4 430 3.0 1
s J5 4HE-5 250 00 1 ||a AQ7 # 96 3DXE-1 200 3.0 1
v AQJ82 3HE-4 200 1.0 1 ||w 96 — v QJ843 58S-1 50 8.0 1
¢ J64 3CN6 170 20 1 ||e J532 + QT976 45S-1 50 8.0 1
» T85 4CN5 150 3.0 1 ||& J863 ~ K 4SN-1 50 8.0 1
4 1632 3SN3 140 30 2 FOVAN o, JT4
K 3CN5 150 30 1||N 5~~55 o K52
o+ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
» 643 48S-1 100 -80 1||E ~~~~~ & A52
3DS-1 100 -80 1 |[W ~~~~~
aQJ 4SE5 -650 Mean: 2SE4 470 100 1 ||# 24 o AKJ72 1SN6 230 Mean: 6CN6 920 11.0 1
v KJ652 4SE5 -650 -610  3SE5 200 9.0 1 v2 5CN5 400 400 5CN6 420 1.0 3
* Q9 Dif: 0 NS:-1 4SE4 620 00 2 *8 Dif: -170 NS:-5 3NS4 430 1.0 3
& AQJ9 IMP: 0 EW:1 4SE5 650 1.0 7 & AKQT73 IMP: -5 EW:0 5CN5 400 0.0 3
a AKT9754 4SE6 680 -20 2 ||a Q86 ~ 954 3NS3 400 0.0 1
+ v A4 INXN-4  -1100 -10.0 1 ||v KQ65 v AT43 1SN6 230 50 1
T * KQ974 ¢ T52 4CN6 170 6.0 1
S » T65 a4 » 982 2NS3 150 6.0 1
s 63 oI VAN 4T3
w7 N 6~~64 v J987
+ J86542 S 6~~64 ¢ AJ63
& 7432 E ~1~~~ &J65
W ~1~~-~
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#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)

4 J3

v T543
+ Q6432
& K3

Smnz
1! =
1 1 ==
[SINRER IR |
1 l1=a=aP
1Ll =azz

# 19

K9876
JT953

SmMmnZ e<cd>
(IR I IR e
[N ]

N1 1 4
trie

trr e Z

NS: £Z#5% EiE4EGHO) -18 1 O NS: BRI REE(BAC) 3 VP:| 4.00 16.00 | Total VP: 53.00 Rank:
EW: E1{&{& SHEEEAC) -3 EW: 2553 It E(BAO) 14 IMP:| 17 35 10
I
» K96 2HW3 -140 Mean: 1NN2 120 30 2 ||#18 s 186 4SS-2 -200 Mean: 3SS3 140 40 3
v A97 1NN-1-50 10  1NN1 90 20 4 94 25S3140 o0 28S3 140 40 2
+ AKJ75 Dif: -90 NS:-4 3HW-1 50 1.0 1 + Q7643 Dif: -340 NS:-5 1SS3 140 40 1
» Q8 IMP: -3 EW:2 2HE-1 50 1.0 1 » Q53 IMP: -8 EW:-4 2SS2 110 3.0 1
s AT72 1NN-1 50 20 2 ||a A543 a2 3HW-1 50 20 1
v KQ86 3NN-2 100 -3.0 1 ||v QT862 I v J5 38S-1 100 -3.0 1
*8 2HW2 110 30 2 ||e A9 + KT85 3CE3 410 3.0 1
» A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 100 -3.0 1
» Q854 % ¢V AN 4 KQJI7 4SS-2 200 -50 3
v J2 N ~~~2~ o AK73
¢ T9 S ~~~2~ ¢J2
& JT952 E 3~1~~ &A6
W 3~1~~
» AT54 3DN4 130 Mean: 4HXW-3 800 13.0 1 ||# 20 a6 3SXW4 -930 Mean: 4SW-1 100 110 1
v K87 2NN-2-100 30  4DXN4 510 10.0 1 v AJ98 3SW4 -170 -400  3SW4 170 6.0 4
+ KJ653 Dif: 230 NS:3 4DS4 130 3.0 1 ¢ AKT76 Dif: -760 NS:-11 2Sw4 470 6.0 1
&5 IMP: 6 EW:4 3DN4 130 3.0 2 & QJ5 IMP: -13 EW:-6 3SW5 200 50 1
a J2 3NN-2 100 -40 1 ||s AK8432 » QT9 4SW4 620 -60 5
v A42 2NN-2 100 -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
* QT92 3NN-3 4150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
» QJ92 2NS-3 150 50 2 ||a6 » A98732
» Q3 oo VAN 4, J75
v Q6 N ~11~~ o T652
+ A874 S ~11~~ 498
& A8643 E 1~~42 a&KT4
W 1~~42
4 AQ9 3NN3 600 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 58S-1 -50 Mean: 4SS5 450 40 5
v 743 3SN3 140 240  3NS3 600 80 1 v AT7 4S5S4 420 310 4SN5 450 4.0 1
¢ 52 Dif: 460 NS:8 3NN3 600 80 1 * Dif: -470 NS:-8 4SS4 420 3.0 3
& AQJ97 IMP: 10 EW:3 1NS7 270 1.0 1 & QT974 IMP: -10 EW:-3 3NS4 430 3.0 1
s J5 4HE-5 250 00 1 ||a AQ7 # 96 3DXE-1 200 3.0 1
v AQJ82 3HE-4 200 1.0 1 ||w 96 — v QJ843 58S-1 50 8.0 1
¢ J64 3CN6 170 20 1 ||e J532 + QT976 45S-1 50 8.0 1
» T85 4CN5 150 3.0 1 ||& J863 ~ K 4SN-1 50 8.0 1
4 1632 3SN3 140 30 2 FOVAN o, JT4
K 3CN5 150 30 1||N 5~~55 o K52
o+ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
» 643 48S-1 100 -80 1||E ~~~~~ & A52
3DS-1 100 -80 1 |[W ~~~~~
aQJ 4SE5 -650 Mean: 2SE4 470 100 1 ||# 24 o AKJ72 5CN5 400 Mean: 6CN6 920 11.0 1
v KJ652 4SE6 -680 -610  3SE5 200 9.0 1 v2 5CN6 420 400 5CN6 420 1.0 3
* Q9 Dif: 30 NS:-1 4SE4 620 00 2 *8 Dif: -20 NS:0 3NS4 430 1.0 3
& AQJ9 IMP: 1 EW:2 4SE5 650 1.0 7 & AKQT73 IMP: -1 EW:-1 5CN5 400 0.0 3
a AKT9754 4SE6 680 -20 2 ||a Q86 ~ 954 3NS3 400 0.0 1
+ v A4 INXN-4  -1100 -10.0 1 ||v KQ65 v AT43 1SN6 230 50 1
T * KQ974 ¢ T52 4CN6 170 6.0 1
S » T65 a4 » 982 2NS3 150 6.0 1
s 63 oI VAN 4T3
w7 N 6~~64 v J987
+ J86542 S 6~~64 ¢ AJ63
& 7432 E ~1~~~ &J65
W ~1~~-~




112 F< 4 2FMpERF R

® ==> R6

#1: 13 JBH (89.07) #2: 11 BB FR(@87. 61) #3 10 JRF3(72.58)

5 NS: 82 BREF(BHO) -2 1 2 NS: #B{E3E #FER(EAC) 2 VP:| 8.33 11.67 | Total VP: 54.18 Rank:
EW: BEEE: 12 {21&(EAC) -2 EW: ZZ8EI8 215 7K(BAO) 2 IMP:| 26 30 9
— I
# 17 » K96 3NN-2 -100 Mean: 1NN2 120 3.0 2 [[#18 » 186 2SS2 110 Mean: 3SS3 140 40 3
v A97 1NN2120 10  1NN1 90 20 4 v 94 2NS-1-100 © 2883 140 40 2
+ AKJ75 Dif: -220 NS:-3  3HW-1 50 1.0 1 + Q7643 Dif: 210 NS:3 1SS3 140 40 1
» Q8 IMP: -6 EW:-3 2HE-1 50 1.0 1 » Q53 IMP: 5 EW:3 2SS2 110 3.0 1
s J3 a AT72 1NN-1 -50 20 2 ||as A543 a2 3HW-1 50 20 1
v T543 v KQ86 3NN-2 4100 -30 1 ||v QT862 I v J5 38S-1 100 -3.0 1
+ Q6432 *8 2HW2 110 30 2 ||e A9 ¢ KT85 3CE3 410 3.0 1
» K3 » A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 100 -3.0 1
®+VSN 4 Q854 % ¢V AN 4 KQJI7 4SS-2 200 -50 3
N 11~11 9J2 N ~~~2~ 9 AK73
S 11~11 ¢7T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W ~~2~~ W 3~1~~
# 19 » AT54 2NS-3 -150 Mean: 4HXW-3 800 13.0 1 ||# 20 a6 2SW4 -170 Mean: 4SW-1 100 110 1
v K87 2NN-2 -100 30  4DXN4 510 10.0 1 v AJ98 4SW4 -620 -400  3SW4 170 6.0 4
+ KJ653 Dif: -50 NS:-5 4DS4 130 3.0 1 ¢ AKT76 Dif: 450 NS:6 2SW4 470 6.0 1
&5 IMP: -2 EW:4 3DN4 130 3.0 2 & QJ5 IMP: 10 EW:6 3SW5 200 50 1
#» K9876 a J2 3NN-2 100  -40 1 ||a AK8432 ~ QT9 4swa 620 -60 5
v JT953 v Ad42 2NN-2 100  -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
. * QT92 3NN-3 4150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
& KT7 » QJ92 2NS-3 150 50 2 ||s6 » A98732
F*e¢VAN Q3 oo VAN 4, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4~~~ ¢ A874 S ~11~~ 4985
E ~~1~~ &A8643 E 1~~42 a&KT4
W ~~2~~ W 1~~42
# 21 » AQ9 4SS-1 -100 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 4SS5 450 Mean: 4SS5 450 40 5
v 743 3NS3 600 240 3NS3 600 80 1 v AT7 4SS4 420 310 4SN5 450 4.0 1
¢ 52 Dif: -700 NS:-8 3NN3 600 80 1 . Dif: 30 NsS:4 4ss4 420 3.0 3
» AQJ97 IMP: -12 EW:-8 1NS7 270 1.0 1 » QT974 IMP: 1 EW:-3 3NS4 430 3.0 1
» K874 s J5 4HE-5 250 00 1 ||s AQ7 # 96 3DXE-1 200 3.0 1
v T965 v AQJ82 3HE-4 200 1.0 1 ||w 96 — v QJ843 558-1 50 8.0 1
+ Q93 ¢ J64 3CN6 170 20 1 ||e J532 + QT976 48S-1 50 8.0 1
» K2 » T85 4CN5 150 -3.0 1 || J863 » K 4SN-1 50 8.0 1
¢ VAN 4T632 3SN3 140 30 2 FOVAN o, JT4
N 45~42 9K 3CN5 150 30 1||N 5~~55 o K52
S 45~ 42 ¢ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
E ~~~~~ » 643 48S-1 100 -80 1||E ~~~~~ & A52
W ~~~~~ 3DS-1 100 -80 1 ||W ~~~~~
# 23 QJ 1NXN-4 -1100 Mean: 2SE4 470 100 1 ||# 24 o AKJ72 6CN6 920 Mean: 6CN6 920 11.0 1
v KJ652 4SE4 -620 -610  3SE5 200 9.0 1 v2 3NS4 430 400 5CN6 420 1.0 3
* Q9 Dif: -480 NS:-10 4SE4 620 00 2 ¢ 8 Dif: 490 NS:11 3NS4 430 1.0 3
& AQJ9 IMP: -10 EW:0 4SE5 650 1.0 7 & AKQT73 IMP: 10 EW:-1 5CN5 400 0.0 3
» 82 ~ AKT9754 4SE6 680 -20 2 ||s Q86 ~ 954 3NS3 400 0.0 1
v QT983 + v A4 INXN-4 1100 100 1 | |v KQB5 v AT43 1SN6 230 50 1
¢ AK73 o T + KQ974 ¢ T52 4CN6 170 6.0 1
& K8 S » T65 a4 » 982 2NS3 150 6.0 1
o ¢VABN 463 oI VAN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~
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#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)
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SmMmnZ e<cd>
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N1 1 4
trie
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NS: B~ B EH0) 4 13 NS: SE1E #iFEEIC) 0 VP:| 10.00 : 10.00 | Total VP: 48.05 Rank:
EW: Bk BESCZEIC) 0 EW: EEM L/IEBIO) 4 IMP:| 30 30 1
I
» K96 2HW2 -110 Mean: 1NN2 120 3.0 2 [[#18 » 186 4SS-2 -200 Mean: 3SS3 140 40 3
v A97 1NN190 10  1NN1 90 20 4 v 94 3HW-150 o 28S3 140 40 2
+ AKJ75 Dif: 200 NS:-3  3HW-1 50 1.0 1 + Q7643 Dif: -250 NS:-5 1SS3 140 40 1
» Q8 IMP: -5 EW:-2 2HE-1 50 1.0 1 » Q53 IMP: -6 EW:-2 2SS2 110 3.0 1
s AT72 1NN-1 50 20 2 ||a A543 a2 3HW-1 50 20 1
v KQ86 3NN-2 100 -3.0 1 ||v QT862 I v J5 38S-1 100 -3.0 1
*8 2HW2 110 30 2 ||e A9 + KT85 3CE3 410 3.0 1
» A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 100 -3.0 1
» Q854 % ¢ VBN 4 KQJI7 48S-2 200 -50 3
v J2 N ~~~2~ o AK73
¢ T9 S ~~~2~ ¢J2
& JT952 E 3~1~~ &A6
W 3~1~~
» AT54 2NN-2 -100 Mean: 4HXW-3 800 130 1 ||# 20 a6 4SW4 -620 Mean: 4SW-1 100 110 1
v K87 3NN-3 -150 30 4DXN4 510 100 1 v AJ98 3SW5-200 -400 3SW4 170 6.0 4
+ KJ653 Dif: 50 NS:-4 4DS4 130 3.0 1 ¢ AKT76 Dif: -420 NS:-6 2SW4 470 6.0 1
&5 IMP: 2 EW:5 3DN4 130 3.0 2 & QJ5 IMP: -9 EW:-5 3SW5 200 50 1
a J2 3NN-2 100 -40 1 ||s AK8432 » QT9 4SW4 620 -60 5
v A42 2NN-2 100 -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
* QT92 3NN-3 150 -50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
» QJ92 2NS-3 150 50 2 ||a6 » A98732
» Q3 oo VAN 4, J75
v Q6 N ~11~~ o T652
+ A874 S ~11~~ 498
& A8643 E 1~~42 a&KT4
W 1~~42
4 AQ9 3HXE-4 800 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 4SS5 450 Mean: 4SS5 450 40 5
v 743 1NS7 270 240  3NS3 600 80 1 v AT7 4SS-1-50 310 4SN5 450 4.0 1
¢ 52 Dif: 530 NS:11 3NN3 600 80 1 . Dif: 500 NS:4 4ss4 420 3.0 3
& AQJ97 IMP: 11 EW:-1 1NS7 270 1.0 1 & QT974 IMP: 11 EW:8 3NS4 430 3.0 1
s J5 4HE-5 250 00 1 ||a AQ7 # 96 3DXE-1 200 3.0 1
v AQJ82 3HE-4 200 1.0 1 ||w 96 — v QJ843 58S-1 50 8.0 1
¢ J64 3CN6 170 20 1 ||e J532 + QT976 45S-1 50 8.0 1
» T85 4CN5 150 3.0 1 ||& J863 ~ K 4SN-1 50 8.0 1
4 1632 3SN3 140 30 2 FOVAN o, JT4
K 3CN5 150 30 1||N 5~~55 o K52
o+ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
» 643 48S-1 100 -80 1||E ~~~~~ & A52
3DS-1 100 -80 1 |[W ~~~~~
aQJ 4SE6 -680 Mean: 2SE4 470 100 1 ||# 24 o AKJ72 5CN6 420 Mean: 6CN6 920 11.0 1
v KJ652 3SE5-200 -610 3SE5 200 9.0 1 v2 4CN6 170 400  5CN6 420 1.0 3
* Q9 Dif: -480 NS:-2 4SE4 620 00 2 ¢ 8 Dif: 250 NS:1  3NS4 430 1.0 3
& AQJ9 IMP: -10 EW:-9 4SE5 650 1.0 7 & AKQT73 IMP: 6 EW:6 5CN5 400 0.0 3
a AKT9754 4SE6 680 -20 2 ||a Q86 ~ 954 3NS3 400 0.0 1
+ v A4 INXN-4  -1100 -10.0 1 ||v KQ65 v AT43 1SN6 230 50 1
T * KQ974 ¢ T52 4CN6 170 6.0 1
S » T65 a4 » 982 2NS3 150 6.0 1
s 63 oI VAN 4T3
w7 N 6~~64 v J987
+ J86542 S 6~~64 ¢ AJ63
& 7432 E ~1~~~ &J65
W ~1~~-~




112 F< 4 2FMpERF R

® ==> R6

#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)

7 NS: BESESH = FHC) -3 1 NS: SBEUIR 2I32#:(BRO) -3 VP:| 10.00 : 10.00| Total VP: 44.76 Rank:
EW: S B2 (BEO) 3 EW: FREI E2E(BAC) 3 IMP:| 8 . 8 13
— I
# 17 » K96 1NN1 -90 Mean: 1NN2 120 3.0 2 [[# 18 a T86 3SS3 -140 Mean: 3SS3 140 40 3
v A97 3HW-1-50 10  1NN1 90 20 4 v 94 3SS-1100 0 2883 140 40 2
+ AKJ75 Dif: -40 NS:1  3HW-1 50 1.0 1 ¢ Q7643 Dif: -240 NS:-3 1SS3 140 40 1
» Q8 IMP: -1 EW:-2 2HE-1 50 1.0 1 % Q53 IMP: -6 EW:-4 2SS2 110 3.0 1
s J3 a AT72 1NN-1 -50 20 2 ||as A543 a2 3HW-1 50 20 1
v T543 v KQ86 3NN-2 4100 -30 1 ||v QT862 I v J5 38S-1 4100 3.0 1
+ Q6432 *8 2HW2 4110 30 2 ||e A9 ¢ KT85 3CE3 410 3.0 1
» K3 » A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 4100 3.0 1
®+VSN 4 Q854 % ¢V AN 4 KQJI7 4SS-2 200 -50 3
N 11~11 9J2 N ~~~2~ 9 AK73
S 11~11 ¢7T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W ~~2~~ W 3~1~~
#19 o AT54 3NN-3 150 Mean: 4HXW-3 800 13.0 1 ||# 20 a6 4SW4 620 Mean: 4SW-1 100 110 1
v K87 3DN4 -130 30  4DXN4 510 10.0 1 v AJ98 4SW4 620 -400  3SW4 170 6.0 4
+ KJ653 Dif: 280 NS:3 4DS4 130 3.0 1 ¢ AKT76 Dif: 0 NS:-6 2SW4 470 6.0 1
&5 IMP: 7 EW:5 3DN4 130 3.0 2 & QJ5 IMP: 0 EW:6 3SW5 200 50 1
#» K9876 » J2 3NN-2 100  -40 1 ||a AK8432 » QT9 4swa 620 -60 5
v JT953 v Ad42 2NN-2 100 -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
. + QT92 3NN-3 4150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
& KT7 » QJ92 2NS-3 150 50 2 ||s6 & A98732
F*e¢VAN Q3 oo VAN 4, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4~~~ ¢ A874 S ~11~~ 4985
E ~~1~~ &A8643 E 1~~42 a&KT4
W ~~2~~ W 1~~42
# 21 » AQ9 3HE-4 -200 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 4SS4 -420 Mean: 4SS5 450 40 5
v 743 3CN6 -170 240  3NS3 600 80 1 v AT7 4SN5 -450 310  4SN5 450 4.0 1
¢ 52 Dif: -30 NS:-2 3NN3 600 80 1 . Dif: 30 NsS:4 4ss4 420 3.0 3
» AQJ97 IMP: -1 EW:1 1NS7 270 1.0 1 » QT974 IMP: 1 EW:-3 3NS4 430 3.0 1
» K874 s J5 4HE-5 250 00 1 ||sAQ7 » 96 3DXE-1 200 -30 1
v T965 v AQJ82 3HE-4 200 1.0 1 ||v 96 —_ v QJ843 558-1 50 80 1
+ Q93 ¢ J64 3CN6 170 20 1 ||e J532 + QT976 48S-1 50 8.0 1
» K2 » T85 4CN5 150 -3.0 1 || J863 » K 4SN-1 50 80 1
VBN 4,T632 3SN3 140 30 2 FOVAN o, JT4
N 45~42 9K 3CN5 150 30 1||N 5~~55 o K52
S 45~ 42 ¢ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
E ~~~~~ * 643 4sS-1 100 -80 1||E ~~~~~ & A52
W ~~~~-~ 3DS-1 100 -80 1 ||W ~~~~~
# 23 QJ 4SE5 650 Mean: 2SE4 470 100 1 ||# 24 » AKJT2 3NS4 -430 Mean: 6CN6 920 11.0 1
v KJ652 4SE5 650 -610  3SE5 200 9.0 1 v2 5CN6 -420 400  5CN6 420 1.0 3
+ Q9 Dif: 0 NS:-1 4SE4 620 00 2 ¢ 8 Dif: -10 NS:1  3NS4 430 1.0 3
& AQJ9 IMP: 0 EW:1 4SE5 650 1.0 7 & AKQT73 IMP: 0 EW:-1 5CN5 400 0.0 3
» 82 ~ AKT9754 4SE6 680 -20 2 ||s Q86 ~ 954 3NS3 400 0.0 1
v QT983 + v A4 INXN-4 1100 100 1 | |v KQB5 v AT43 1SN6 230 50 1
¢ AK73 o T + KQ974 ¢ T52 4CN6 170 6.0 1
& K8 S » T65 a4 » 982 2NS3 150 6.0 1
o ¢VABN 463 oI VAN 4T3
N11~~~e7 N 6~~64 vJo87
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~




112 F< 4 2FMpERF R

® ==> R6

#1: 13 JBH (89.07) #2: 11 BB FR(@87. 61) #3 10 JRF3(72.58)

8 NS: BRIE£E H3EEHO0) 10 14 NS: HH#HE ZHE(EAC) 11 VP:| 8.33 11.67 | Total VP: 44.87 Rank:
EW: #8E ERZEC) -11 EW: BIEHE L (F0) -1 IMP:| 16 20 12
— I
# 17 » K96 1NN1 90 Mean: 1NN2 120 3.0 2 [[#18 » 186 3SS3 140 Mean: 3SS3 140 40 3
v A97 1NN2120 10  1NN1 90 20 4 94 4SS-2-200 0 2883 140 40 2
+ AKJ75 Dif: -30 NS:2  3HW-1 50 1.0 1 + Q7643 Dif: 340 NS:4 1SS3 140 40 1
» Q8 IMP: -1 EW:-3 2HE-1 50 1.0 1 » Q53 IMP: 8 EW:5 2SS2 110 3.0 1
s J3 a AT72 1NN-1 -50 20 2 ||as A543 a2 3HW-1 50 20 1
v T543 v KQ86 3NN-2 4100 -30 1 ||v QT862 I v J5 38S-1 100 -3.0 1
+ Q6432 *8 2HW2 110 30 2 ||e A9 ¢ KT85 3CE3 410 3.0 1
» K3 » A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 100 -3.0 1
®+VSN 4 Q854 % ¢V AN 4 KQJI7 4SS-2 200 -50 3
N 11~11 9J2 N ~~~2~ 9 AK73
S 11~11 ¢7T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W~~2~-~ W 3~1~-~
# 19 » AT54 4DXN4 510 Mean: 4HXW-3 800 130 1 ||# 20 a6 4SE4 -620 Mean: 4SW-1 100 110 1
v K87 4HXW-3 800 30  4DXN4 510 10.0 1 v AJ98 3SW4 -170 -400  3SW4 170 6.0 4
+ KJ653 Dif: -290 NS:10 4DS4 130 3.0 1 ¢ AKT76 Dif: -450 NS:-6 2SW4 470 6.0 1
&5 IMP: -7 EW:-13 3DN4 130 3.0 2 & QJ5 IMP: -10 EW:-6 3SW5 200 50 1
#» K9876 a J2 3NN-2 100  -40 1 ||a AK8432 » QT9 4swa 620 -60 5
v JT953 v Ad42 2NN-2 100  -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
. + QT92 3NN-3 4150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
& KT7 » QJ92 2NS-3 150 50 2 ||s6 » A98732
F*e¢VAN Q3 oo VAN 4, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4~~~ ¢ A874 S ~11~~ 4985
E ~~1~~ &A8643 E 1~~42 a&KT4
W ~~2~~ W 1~~42
# 21 » AQ9 4CN5 150 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 4SS5 450 Mean: 4SS5 450 40 5
v 743 3HE-2100 240  3NS3 600 80 1 v AT7 3DXE-1200 310  4SN5 450 4.0 1
¢ 52 Dif: 50 NS:-3 3NN3 600 80 1 . Dif: 250 NS:4 4SS4 420 3.0 3
» AQJ97 IMP: 2 EW:4 1NS7 270 1.0 1 » QT974 IMP: 6 EW:3 3NS4 430 3.0 1
» K874 s J5 4HE-5 250 00 1 ||s AQ7 # 96 3DXE-1 200 3.0 1
v T965 v AQJ82 3HE-4 200 1.0 1 ||v 96 — v QJ843 558-1 50 8.0 1
+ Q93 ¢ J64 3CN6 170 20 1 ||e J532 + QT976 48S-1 50 8.0 1
» K2 » T85 4CN5 150 -3.0 1 || J863 » K 4SN-1 50 8.0 1
¢ VAN 4T632 3SN3 140 30 2 FOVAN o, JT4
N 45~42 9K 3CN5 150 30 1||N 5~~55 o K52
S 45~ 42 ¢ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
E ~~~~~ » 643 48S-1 100 -80 1||E ~~~~~ & A52
W ~~~~~ 3DS-1 100 -80 1 ||W ~~~~~
# 23 QJ 4SE5 -650 Mean: 2SE4 470 100 1 ||# 24 » AKJT2 3NS3 400 Mean: 6CN6 920 11.0 1
v KJ652 4SE4 -620 -610  3SE5 200 9.0 1 v2 3NS4 430 400 5CN6 420 1.0 3
* Q9 Dif: -30 NS:-1 4SE4 620 00 2 ¢ 8 Dif: -30 NS:0 3NS4 430 1.0 3
& AQJ9 IMP: -1 EW:0 4SE5 650 1.0 7 & AKQT73 IMP: -1 EW:-1 5CN5 400 0.0 3
» 82 ~ AKT9754 4SE6 680 -20 2 ||s Q86 ~ 954 3NS3 400 0.0 1
v QT983 + v A4 INXN-4 1100 100 1 | |v KQB5 v AT43 1SN6 230 50 1
¢ AK73 o T + KQ974 ¢ T52 4CN6 170 6.0 1
& K8 S » T65 a4 » 982 2NS3 150 6.0 1
o ¢VABN 463 oI VAN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~




112 F< 4 2FMpERF R

® ==> R6

#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)

9 NS: ¥igkz BREIEEAC) -8 2 NS: %5hE Z#EZ5(FF0) 30 VP:| 0.38 19.62| Total VP: 34.71 Rank:
EW: 8172 BE#SFEE0) -30 EW: Bp & SE&A(BAC) 8 IMP:| 1 40 14
— I
# 17 » K96 1NN1 -90 Mean: 1NN2 120 3.0 2 [[#18 » 186 2SS3 -140 Mean: 3SS3 140 40 3
v A97 INN-150 10  1NN1 90 20 4 v 94 1883-140 o© 2883 140 40 2
+ AKJ75 Dif: -140 NS:-2 3HW-1 50 1.0 1 + Q7643 Dif: 0 NS:4 1SS3 140 40 1
» Q8 IMP: -4 EW:-2 2HE-1 50 1.0 1 » Q53 IMP: 0 EW:-4 2SS2 110 3.0 1
s J3 » AT72 1NN-1 50 20 2 ||a A543 a2 3HW-1 50 20 1
v T543 v KQ86 3NN-2 4100 -30 1 ||v QT862 I v J5 38S-1 100 -3.0 1
+ Q6432 *8 2HW2 110 30 2 ||e A9 ¢ KT85 3CE3 410 3.0 1
» K3 » A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 100 -3.0 1
®+VSN 4 Q854 % ¢V AN 4 KQJI7 4SS-2 200 -50 3
N 11~11 9J2 N ~~~2~ o AK73
S 11~11 ¢7T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W ~~2~~ W 3~1~~
# 19 » AT54 4DS4 -130 Mean: 4HXW-3 800 13.0 1 [|# 20 a6 4SW-1-100 Mean: 4SW-1 100 110 1
v K87 2NS-3150 30  4DXN4 510 10.0 1 v AJ98 3SW4 170 -400 3SW4 170 6.0 4
+ KJ653 Dif: -280 NS:-5 4DS4 130 3.0 1 ¢ AKT76 Dif: -270 NS:6 2SW4 470 6.0 1
&5 IMP: -7 EW:-3 3DN4 130 3.0 2 & QJ5 IMP: -7 EW:-11 3SW5 200 50 1
#» K9876 a J2 3NN-2 100  -40 1 ||a AK8432 ~ QT9 4swa 620 -60 5
v JT953 v Ad42 2NN-2 100  -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
. * QT92 3NN-3 4150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
& KT7 » QJ92 2NS-3 150 50 2 ||s6 » A98732
F*e¢VAN Q3 oo VAN 4, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4~~~ ¢ A874 S ~11~~ 4985
E ~~1~~ &A8643 E 1~~42 a&KT4
W ~~2~~ W 1~~42
# 21 » AQ9 3CN5 -150 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 3NS4 -430 Mean: 4SS5 450 40 5
v 743 3DS-1100 240  3NS3 600 80 1 v AT7 4SS5 -450 310  4SN5 450 4.0 1
¢ 52 Dif: -250 NS:-8 3NN3 600 80 1 . Dif: 20 Ns:4 4ss4 420 3.0 3
» AQJ97 IMP: -6 EW:3 1NS7 270 1.0 1 » QT974 IMP: 1 EW:-3 3NS4 430 3.0 1
» K874 s J5 4HE-5 250 00 1 ||s AQ7 # 96 3DXE-1 200 3.0 1
v T965 v AQJ82 3HE-4 200 1.0 1 ||w 96 — v QJ843 558-1 50 8.0 1
+ Q93 ¢ J64 3CN6 170 20 1 ||e J532 + QT976 4sS-1 50 8.0 1
» K2 » T85 4CN5 150 -3.0 1 || J863 » K 4SN-1 50 8.0 1
¢ VAN 4T632 3SN3 140 30 2 FOVAN o, JT4
N 45~42 9K 3CN5 150 30 1||N 5~~55 o K52
S 45~ 42 ¢ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
E ~~~~~ » 643 48S-1 100 -80 1||E ~~~~~ & A52
W ~~~~~ 3DS-1 100 -80 1 ||W ~~~~~
# 23 QJ 2SE4 170 Mean: 2SE4 470 100 1 ||# 24 o AKJ72 5CN5 -400 Mean: 6CN6 920 11.0 1
v KJ652 4SE5 650 -610  3SE5 200 9.0 1 v2 2NS3 -150 400 5CN6 420 1.0 3
* Q9 Dif: -480 NS:-1 4SE4 620 00 2 ¢ 8 Dif: -250 NS:-6 3NS4 430 1.0 3
& AQJ9 IMP: -10 EW:-10 4SE5 650 1.0 7 & AKQT73 IMP: -6 EW:0 5CN5 400 0.0 3
» 82 ~ AKT9754 4SE6 680 -20 2 ||s Q86 ~ 954 3NS3 400 0.0 1
v QT983 + v A4 INXN-4 1100 100 1 | |v KQB5 v AT43 1SN6 230 50 1
¢ AK73 o T + KQ974 ¢ T52 4CN6 170 6.0 1
& K8 S » T65 a4 » 982 2NS3 150 6.0 1
o ¢VABN 463 oI VAN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~




112 F< 4 2FMpERF R

® ==> R6

#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)

1 O NS: BEGAH BEEEIC) 3 4 NS: EZHEX BEHA(FO0) 1 VP:| 16.00 : 4.00 | Total VP: 72.58 Rank:
EW: R854 fa[ i ZE(BFHO) 18 EW: E{Zf& fH#EEBAC) -3 IMP:| 35 17 3
— - I
# 17 » K96 2HW3 140 Mean: 1NN2 120 3.0 2 [[# 18 a T86 4SS-2200 Mean: 3SS3 140 40 3
v A97 INN-150 10  1NN1 90 20 4 v 94 2SS3-140 0 2883 140 40 2
+ AKJ75 Dif: 90 NS:-2 3HW-1 50 1.0 1 ¢ Q7643 Dif: 340 NS:4 1SS3 140 40 1
» Q8 IMP: 3 EW:4 2HE-1 50 1.0 1 % Q53 IMP: 8 EW:5 2SS2 110 3.0 1
s J3 a AT72 1NN-1 -50 20 2 ||as A543 a2 3HW-1 50 20 1
v T543 v KQ86 3NN-2 4100 -30 1 ||v QT862 I v J5 38S-1 4100 3.0 1
+ Q6432 *8 2HW2 4110 30 2 ||e A9 ¢ KT85 3CE3 410 3.0 1
» K3 » A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 4100 3.0 1
®+VSN 4 Q854 % ¢V AN 4 KQJI7 4SS-2 200 -50 3
N 11~11 9J2 N ~~~2~ 9 AK73
S 11~11 ¢7T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W ~~2~~ W 3~1~~
#19 o AT54 3DN4 -130 Mean: 4HXW-3 800 13.0 1 ||# 20 a6 3SXW4 930 Mean: 4SW-1 100 110 1
v K87 2NN-2 100 30  4DXN4 510 10.0 1 v AJ98 3SW4 170 -400 3SW4 170 6.0 4
+ KJ653 Dif: -230 NS:-4 4DS4 130 3.0 1 ¢ AKT76 Dif: 760 NS:6 2SW4 470 6.0 1
&5 IMP: -6 EW:-3 3DN4 130 3.0 2 & QJ5 IMP: 13 EW:11 3SW5 200 50 1
#» K9876 » J2 3NN-2 100  -40 1 ||a AK8432 » QT9 4swa 620 -60 5
v JT953 v Ad42 2NN-2 100 -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
. + QT92 3NN-3 4150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
& KT7 » QJ92 2NS-3 150 50 2 ||s6 & A98732
F*e¢VAN Q3 oo VAN 4, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4~~~ ¢ A874 S ~11~~ 4985
E ~~1~~ &A8643 E 1~~42 a&KT4
W ~~2~~ W 1~~42
# 21 » AQ9 3NN3 -600 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 58S-1 50 Mean: 4SS5 450 40 5
v 743 3SN3 -140 240  3NS3 600 80 1 v AT7 4SS4 -420 310  4SN5 450 4.0 1
¢ 52 Dif: -460 NS:-3 3NN3 600 80 1 . Dif: 470 NS:3 4SS4 420 3.0 3
» AQJ97 IMP: -10 EW:-8 1NS7 270 1.0 1 » QT974 IMP: 10 EW:3 3NS4 430 3.0 1
» K874 s J5 4HE-5 250 00 1 ||sAQ7 » 96 3DXE-1 200 -30 1
v T965 v AQJ82 3HE-4 200 1.0 1 ||v 96 —_ v QJ843 558-1 50 80 1
+ Q93 ¢ J64 3CN6 170 20 1 ||e J532 + QT976 4sS-1 50 8.0 1
» K2 » T85 4CN5 150 -3.0 1 || J863 » K 4SN-1 50 80 1
VBN 4,T632 3SN3 140 30 2 FOVAN o, JT4
N 45~42 9K 3CN5 150 30 1||N 5~~55 o K52
S 45~ 42 ¢ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
E ~~~~~ * 643 4sS-1 100 -80 1||E ~~~~~ & A52
W ~~~~-~ 3DS-1 100 -80 1 ||W ~~~~~
# 23 QJ 4SE5 650 Mean: 2SE4 470 100 1 ||# 24 » AKJT2 5CN5 -400 Mean: 6CN6 920 11.0 1
v KJ652 4SE6 680 -610  3SE5 200 9.0 1 v2 5CN6 -420 400  5CN6 420 1.0 3
+ Q9 Dif: -30 NS:-2 4SE4 620 00 2 ¢ 8 Dif: 20 NS:1  3NS4 430 1.0 3
& AQJ9 IMP: -1 EW:1 4SE5 650 1.0 7 & AKQT73 IMP: 1 EW:0 5CN5 400 0.0 3
» 82 ~ AKT9754 4SE6 680 -20 2 ||s Q86 ~ 954 3NS3 400 0.0 1
v QT983 + v A4 INXN-4 1100 100 1 | |v KQB5 v AT43 1SN6 230 50 1
¢ AK73 o T + KQ974 ¢ T52 4CN6 170 6.0 1
& K8 S » T65 a4 » 982 2NS3 150 6.0 1
o ¢VABN 463 oI VAN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~




112 F< 4 2FMpERF R

® ==> R6

#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)

11

# 17

4 J3

v T543
+ Q6432
& K3

Smnz
1! =
1 1 ==
[SINRER IR |
1 l1=a=aP
1Ll =azz

# 19

K9876
JT953

SmMmnZ e<cd>
(IR I IR e
[N ]

N1 1 4
trie

trr e Z

NS: #FHE BESEEAC) -5 3 NS: R B LT L (FO) -1 VP:[ 15.23 : 4.77 | Total VP: 87.61 Rank:
EW: M=% JT2IEE0) 19 EW: M E#E sRIZE(BAC) 5 IMP:| 28 13 2
I —
» K96 2HW2 110 Mean: 1NN2 120 3.0 2 [[#18 » 186 3CE3 110 Mean: 3SS3 140 40 3
v A97 2HE-1-50 10  1NN1 90 20 4 v 94 3SS3-140 o 28S3 140 40 2
+ AKJ75 Dif: 160 NS:1  3HW-1 50 1.0 1 + Q7643 Dif: 250 NS:4 1SS3 140 40 1
» Q8 IMP: 4 EW:3 2HE-1 50 1.0 1 » Q53 IMP: 6 EW:3 2SS2 110 3.0 1
s AT72 1NN-1 50 20 2 ||a A543 a2 3HW-1 50 20 1
v KQ86 3NN-2 100 -3.0 1 ||v QT862 I v J5 38S-1 100 -3.0 1
*8 2HW2 110 30 2 ||e A9 + KT85 3CE3 410 3.0 1
» A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 100 -3.0 1
» Q854 % ¢ VBN 4 KQJI7 48S-2 200 -50 3
v J2 N ~~~2~ o AK73
¢ T9 S ~~~2~ ¢J2
& JT952 E 3~1~~ &A6
W 3~1~~
» AT54 3NN-3 150 Mean: 4HXW-3 800 13.0 1 ||# 20 a6 3SW4 170 Mean: 4SW-1 100 110 1
v K87 3NN-2100 30  4DXN4 510 10.0 1 v AJ98 4SW4 620 -400  3SW4 170 6.0 4
+ KJ653 Dif: 50 NS:-4 4DS4 130 3.0 1 ¢ AKT76 Dif: -450 NS:-6 2SW4 470 6.0 1
&5 IMP: 2 EW:5 3DN4 130 3.0 2 & QJ5 IMP: -10 EW:-6 3SW5 200 50 1
a J2 3NN-2 100 -40 1 ||s AK8432 » QT9 4SW4 620 -60 5
v A42 2NN-2 100 -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
* QT92 3NN-3 4150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
» QJ92 2NS-3 150 50 2 ||a6 » A98732
» Q3 oo VAN 4, J75
v Q6 N ~11~~ o T652
+ A874 S ~11~~ 498
& A8643 E 1~~42 a&KT4
W 1~~42
4 AQ9 4HE-5 -250 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 4SN-1 50 Mean: 4SS5 450 40 5
v 743 3SN3 -140 240  3NS3 600 80 1 v AT7 4SS5 -450 310 4SN5 450 4.0 1
¢ 52 Dif: -110 NS:-3 3NN3 600 80 1 . Dif: 500 NS:4 4ss4 420 3.0 3
& AQJ97 IMP: -3 EW:0 1NS7 270 1.0 1 & QT974 IMP: 11 EW:8 3NS4 430 3.0 1
s J5 4HE-5 250 00 1 ||a AQ7 # 96 3DXE-1 200 3.0 1
v AQJ82 3HE-4 200 1.0 1 ||w 96 — v QJ843 58S-1 50 8.0 1
¢ J64 3CN6 170 20 1 ||e J532 + QT976 45S-1 50 8.0 1
» T85 4CN5 150 3.0 1 ||& J863 ~ K 4SN-1 50 8.0 1
4 1632 3SN3 140 30 2 FOVAN o, JT4
K 3CN5 150 30 1||N 5~~55 o K52
o+ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
» 643 48S-1 100 -80 1||E ~~~~~ & A52
3DS-1 100 -80 1 |[W ~~~~~
aQJ 4SE5 650 Mean: 2SE4 470 100 1 ||# 24 o AKJ72 1SN6 -230 Mean: 6CN6 920 11.0 1
v KJ652 4SE5 650 -610  3SE5 200 9.0 1 v?2 5CN5 -400 400 5CN6 420 1.0 3
* Q9 Dif: 0 NS:-1 4SE4 620 00 2 ¢ 8 Dif: 170 NS:0 3NS4 430 1.0 3
& AQJ9 IMP: 0 EW:1 4SE5 650 1.0 7 & AKQT73 IMP: 5 EW:5 5CN5 400 0.0 3
a AKT9754 4SE6 680 -20 2 ||a Q86 ~ 954 3NS3 400 0.0 1
+ v A4 INXN-4  -1100 -10.0 1 ||v KQ65 v AT43 1SN6 230 50 1
T * KQ974 ¢ T52 4CN6 170 6.0 1
S » T65 a4 » 982 2NS3 150 6.0 1
s 63 oI VAN 4T3
w7 N 6~~64 v J987
+ J86542 S 6~~64 ¢ AJ63
& 7432 E ~1~~~ &J65
W ~1~~-~




112 F< 4 2FMpERF R

® ==> R6

#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)

1 2 NS: 1R{EE #FEFEAC) 2 5 NS: i£2 8 RE5(BR0) -2 VP:| 11.67 : 8.33 | Total VP: 59.85 Rank:
EW: ZEREJR BRE/KEFHO) 2 EW: EEER B#£I1EBAC) -2 IMP:| 30 26 6
— I
# 17 » K96 3NN-2 100 Mean: 1NN2 120 3.0 2 [[#18 » 186 2SS2 -110 Mean: 3SS3 140 40 3
v A97 1NN2-120 10  1NN1 90 20 4 v 94 2NS-1100 0 2883 140 40 2
+ AKJ75 Dif: 220 NS:3  3HW-1 50 1.0 1 + Q7643 Dif: 210 NS:-3 1SS3 140 40 1
» Q8 IMP: 6 EW:3 2HE-1 50 1.0 1 » Q53 IMP: -5 EW:-3 2SS2 110 3.0 1
s J3 a AT72 1NN-1 -50 20 2 ||as A543 a2 3HW-1 50 20 1
v T543 v KQ86 3NN-2 4100 -30 1 ||v QT862 I v J5 38S-1 100 -3.0 1
+ Q6432 *8 2HW2 110 30 2 ||e A9 ¢ KT85 3CE3 410 3.0 1
» K3 » A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 100 -3.0 1
®+VSN 4 Q854 % ¢V AN 4 KQJI7 4SS-2 200 -50 3
N 11~11 9J2 N ~~~2~ 9 AK73
S 11~11 ¢7T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W ~~2~~ W 3~1~~
# 19 » AT54 2NS-3 150 Mean: 4HXW-3 800 13.0 1 [|# 20 a6 2SW4 170 Mean: 4SW-1 100 110 1
v K87 2NN-2100 30  4DXN4 510 10.0 1 v AJ98 4SW4 620 -400  3SW4 170 6.0 4
+ KJ653 Dif: 50 NS:-4 4DS4 130 3.0 1 ¢ AKT76 Dif: -450 NS:-6 2SW4 470 6.0 1
&5 IMP: 2 EW:5 3DN4 130 3.0 2 & QJ5 IMP: -10 EW:-6 3SW5 200 50 1
#» K9876 a J2 3NN-2 100  -40 1 ||a AK8432 » QT9 4swa 620 -60 5
v JT953 v Ad42 2NN-2 100 -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
. + QT92 3NN-3 4150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
& KT7 » QJ92 2NS-3 150 50 2 ||s6 » A98732
F*e¢VAN Q3 oo VAN 4, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4~~~ ¢ A874 S ~11~~ 4985
E ~~1~~ &A8643 E 1~~42 a&KT4
W ~~2~~ W 1~~42
# 21 » AQ9 4SS-1 100 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 4SS5 -450 Mean: 4SS5 450 40 5
v 743 3NS3 -600 240 3NS3 600 80 1 v AT7 4SS4 -420 310  4SN5 450 4.0 1
¢ 52 Dif: 700 NS:8 3NN3 600 80 1 . Dif: -30 NS:3 4SS4 420 3.0 3
» AQJ97 IMP: 12 EW:8 1NS7 270 1.0 1 » QT974 IMP: -1 EW:-4 3NS4 430 3.0 1
» K874 s J5 4HE-5 250 00 1 ||s AQ7 # 96 3DXE-1 200 3.0 1
v T965 v AQJ82 3HE-4 200 1.0 1 ||v 96 — v QJ843 558-1 50 8.0 1
+ Q93 ¢ J64 3CN6 170 20 1 ||e J532 + QT976 48S-1 50 8.0 1
» K2 » T85 4CN5 150 -3.0 1 || J863 » K 4SN-1 50 8.0 1
¢ VAN 4T632 3SN3 140 30 2 FOVAN o, JT4
N 45~42 9K 3CN5 150 30 1||N 5~~55 o K52
S 45~ 42 ¢ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
E ~~~~~ » 643 48S-1 100 -80 1||E ~~~~~ & A52
W ~~~~~ 3DS-1 100 -80 1 ||W ~~~~~
# 23 QJ 1NXN-4 1100 Mean: 2SE4 470 100 1 ||# 24 » AKJT2 6CN6 -920 Mean: 6CN6 920 11.0 1
v KJ652 4SE4 620 -610  3SE5 200 9.0 1 v2 3NS4 -430 400 5CN6 420 1.0 3
* Q9 Dif: 480 NS:0 4SE4 620 00 2 ¢ 8 Dif: -490 NsS:1 3NS4 430 1.0 3
& AQJ9 IMP: 10 EW:10 4SE5 650 1.0 7 & AKQT73 IMP: -10 EW:-11 5CN5 400 0.0 3
» 82 ~ AKT9754 4SE6 680 -20 2 ||s Q86 ~ 954 3NS3 400 0.0 1
v QT983 + v A4 INXN-4 1100 100 1 | |v KQB5 v AT43 1SN6 230 50 1
¢ AK73 o T + KQ974 ¢ T52 4CN6 170 6.0 1
& K8 S » T65 a4 » 982 2NS3 150 6.0 1
o ¢VABN 463 oI VAN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~




112 F< 4 2FMpERF R

® ==> R6

#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)

13

# 17

4 J3

v T543
+ Q6432
& K3

Smnz
1! =
1 1 ==
[SINRER IR |
1 l1=a=aP
1Ll =azz

# 19

K9876
JT953

SmMmnZ e<cd>
(IR I IR e
[N ]

N1 1 4
trie

trr e Z

aoall P
awl 1l 2

NS: =S SEEEEIC 0 6 NS: R F3XH(FO) -4 VP:[ 10.00 : 10.00 | Total VP: 89.07 Rank:
EW: E&H 2EJ51EEE0) 4 EW: =K1 BXE(BAC) 0 IMP:| 30 30 1
I
» K96 2HW2 110 Mean: 1NN2 120 3.0 2 [[#18 » 186 4SS-2 200 Mean: 3SS3 140 40 3
v A97 1NN1-90 10  1NN1 90 20 4 v 94 3HW-1-50 0 28S3 140 40 2
+ AKJ75 Dif: 200 NS:2  3HW-1 50 1.0 1 + Q7643 Dif: 250 NS:2 1SS3 140 40 1
» Q8 IMP: 5 EW:3 2HE-1 50 1.0 1 » Q53 IMP: 6 EW:5 2SS2 110 3.0 1
s AT72 1NN-1 50 20 2 ||a A543 a2 3HW-1 50 20 1
v KQ86 3NN-2 4100 -3.0 1 ||v QT862 I v J5 38S-1 100 -3.0 1
*8 2HW2 110 30 2 ||e A9 + KT85 3CE3 410 3.0 1
» A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 100 -3.0 1
» Q854 % ¢ VBN 4 KQJI7 48S-2 200 -50 3
v J2 N ~~~2~ o AK73
¢ T9 S ~~~2~ ¢J2
& JT952 E 3~1~~ &A6
W 3~1~~
» AT54 2NN-2 100 Mean: 4HXW-3 800 13.0 1 ||# 20 a6 4SW4 620 Mean: 4SW-1 100 110 1
v K87 3NN-3 150 30 4DXN4 510 100 1 v AJ98 3SW5 200 -400 3sw4 170 6.0 4
+ KJ653 Dif: -50 NS:-5 4DS4 130 3.0 1 ¢ AKT76 Dif: 420 NS:5 2sw4 470 6.0 1
&5 IMP: -2 EW:4 3DN4 130 3.0 2 & QJ5 IMP: 9 EW:6 3SW5 200 50 1
a J2 3NN-2 100 -40 1 ||s AK8432 ~ QT9 4swa 620 -60 5
v A42 2NN-2 4100 -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
* QT92 3NN-3 150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
» QJ92 2NS-3 4150 50 2 ||a6 » A98732
» Q3 oo VAN 4, J75
v Q6 N ~11~~ o T652
+ A874 S ~11~~ 498
& A8643 E 1~~42 a&KT4
W 1~~42
4 AQ9 3HXE-4 -800 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 4SS5 -450 Mean: 4SS5 450 40 5
v 743 1NS7 -270 240  3NS3 600 80 1 v AT7 4SS-150 310 4SN5 450 4.0 1
¢ 52 Dif: -530 NS:1  3NN3 600 80 1 * Dif: -500 NS:-8 4SS4 420 3.0 3
& AQJ97 IMP: -11 EW:-11 1NS7 270 1.0 1 & QT974 IMP: -11 EW:-4 3NS4 430 3.0 1
s J5 4HE-5 250 00 1 ||a AQ7 # 96 3DXE-1 200 3.0 1
v AQJ82 3HE-4 200 1.0 1 ||w 96 — v QJ843 558-1 50 8.0 1
¢ J64 3CN6 170 20 1 ||e J532 + QT976 488-1 50 8.0 1
» T85 4CN5 150 3.0 1 ||& J863 ~ K 4SN-1 50 8.0 1
4 1632 3SN3 140 30 2 FOVAN o, JT4
K 3CN5 150 30 1||N 5~~55 o K52
o+ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
» 643 48S-1 100 -80 1||E ~~~~~ & A52
3DS-1 100 -80 1 ||W ~~~~~
aQJ 4SE6 680 Mean: 2SE4 470 100 1 ||# 24 o AKJ72 5CN6 -420 Mean: 6CN6 920 11.0 1
v KJ652 3SE5200 -610 3SE5 200 9.0 1 v2 4CN6 -170 400 5CN6 420 1.0 3
* Q9 Dif: 480 NS:9 4SE4 620 00 2 ¢ 8 Dif: -250 NS:-6 3NS4 430 1.0 3
& AQJ9 IMP: 10 EW:2 4SE5 650 1.0 7 & AKQT73 IMP: -6 EW:-1 5CN5 400 0.0 3
~ AKT9754 4SE6 680 -20 2 ||s Q86 ~ 954 3NS3 400 0.0 1
+ v Ad INXN-4 1100 -10.0 1 [|e KQ65 v AT43 1SN6 230 50 1
T * KQ974 ¢ T52 4CN6 170 6.0 1
S » T65 a4 » 982 2NS3 150 6.0 1
s 63 oI VAN 4T3
7 N 6~~64 v J987
+ J86542 S 6~~64 ¢ AJ63
& 7432 E ~1~~~ &J65
W ~1~~-~




112 F< 4 2FMpERF R

® ==> R6

#1: 13 JBH (89.07) #2: 11 BB 5 (87.61) #3 10 JRF3(72.58)

1 4 NS: BfiR =A=EIC) 11 8 NS: BRIE{% #i%iE(590) 10 VP:| 11.67 : 8.33 | Total VP: 56.74 Rank:
EW: EiEHE BEEEZZEHO) -10 EW: #imE EEE(BAC) 1 IMP:| 20 16 7
— I
# 17 » K96 1NN1 -90 Mean: 1NN2 120 3.0 2 [[# 18 a T86 3SS3 -140 Mean: 3SS3 140 40 3
v A97 1NN2-120 10  1NN1 90 20 4 v 94 4SS-2200 0 2883 140 40 2
+ AKJ75 Dif: 30 NS:3 3HW-1 50 1.0 1 ¢ Q7643 Dif: -340 NS:-5 1SS3 140 40 1
» Q8 IMP: 1 EW:-2 2HE-1 50 1.0 1 % Q53 IMP: -8 EW:-4 2SS2 110 3.0 1
s J3 a AT72 1NN-1 -50 20 2 ||as A543 a2 3HW-1 50 20 1
v T543 v KQ86 3NN-2 4100 -30 1 ||v QT862 I v J5 38S-1 4100 3.0 1
+ Q6432 *8 2HW2 4110 30 2 ||e A9 ¢ KT85 3CE3 410 3.0 1
» K3 » A764 2HW3 140  -40 1 ||a 97 » KJT842 2NS-1 4100 3.0 1
®+VSN 4 Q854 % ¢V AN 4 KQJI7 4SS-2 200 -50 3
N 11~11 9J2 N ~~~2~ 9 AK73
S 11~11 ¢7T9 S ~~~2~ ¢J2
E ~~2~~ &JT952 E 3~1~~ &A6
W~~2~-~ W 3~1~-~
#19 o AT54 4DXN4 -510 Mean: 4HXW-3 800 130 1 ||# 20 a6 4SE4 620 Mean: 4SW-1 100 110 1
v K87 4HXW-3 -800 30  4DXN4 510 10.0 1 v AJ98 3SW4 170 -400 3SW4 170 6.0 4
+ KJ653 Dif: 290 NS:13 4DS4 130 3.0 1 ¢ AKT76 Dif: 450 NS:6 2SW4 470 6.0 1
&5 IMP: 7 EW:-10 3DN4 130 3.0 2 & QJ5 IMP: 10 EW:6 3SW5 200 50 1
#» K9876 » J2 3NN-2 100  -40 1 ||a AK8432 » QT9 4swa 620 -60 5
v JT953 v Ad42 2NN-2 100 -40 3 ||e K743 + v Q 4SE4 620 -6.0 1
. + QT92 3NN-3 4150 50 3 ||e Q3 ¢ J42 3SXW4 930 -11.0 1
& KT7 » QJ92 2NS-3 150 50 2 ||s6 & A98732
F*e¢VAN Q3 oo VAN 4, J75
N ~4~~~vQ6 N ~11~~ ¢T652
S ~4~~~ ¢ A874 S ~11~~ 4985
E ~~1~~ &A8643 E 1~~42 a&KT4
W ~~2~~ W 1~~42
# 21 » AQ9 4CN5 -150 Mean: 3HXE-4 800 11.0 1 # 22 4 K8532 4SS5 -450 Mean: 4SS5 450 40 5
v 743 3HE-2-100 240  3NS3 600 80 1 v AT7 3DXE-1-200 310  4SN5 450 4.0 1
¢ 52 Dif: -50 NS:-4 3NN3 600 80 1 . Dif: -250 NS:-3 4SS4 420 3.0 3
» AQJ97 IMP: -2 EW:3 1NS7 270 1.0 1 » QT974 IMP: -6 EW:-4 3NS4 430 3.0 1
» K874 s J5 4HE-5 250 00 1 ||sAQ7 » 96 3DXE-1 200 -30 1
v T965 v AQJ82 3HE-4 200 1.0 1 ||v 96 —_ v QJ843 558-1 50 80 1
+ Q93 + J64 3CN6 170 20 1 ||e J532 + QT976 4sS-1 50 8.0 1
» K2 » T85 4CN5 150 -3.0 1 || J863 » K 4SN-1 50 80 1
VBN 4,T632 3SN3 140 3.0 2 FOVAN o, JT4
N 45~42 9K 3CN5 150 30 1||N 5~~55 o K52
S 45~ 42 ¢ AKT87 3HE-2 100 40 1[|S 5~~55 ¢ AK84
E ~~~~~ * 643 4sS-1 100 -80 1||E ~~~~~ » A52
W ~~~~-~ 3DS-1 100 -80 1 ||W ~~~~~
# 23 QJ 4SE5 650 Mean: 2SE4 470 100 1 ||# 24 » AKJT2 3NS3 -400 Mean: 6CN6 920 11.0 1
v KJ652 4SE4 620 -610 3SE5 200 9.0 1 v2 3NS4-430 400 5CN6 420 1.0 3
+ Q9 Dif: 30 NS:0 4SE4 620 00 2 ¢ 8 Dif: 30 NS:1 3NS4 430 1.0 3
& AQJ9 IMP: 1 EW:1 4SE5 650 1.0 7 & AKQT73 IMP: 1 EW:0 5CN5 400 00 3
» 82 ~ AKT9754 4SE6 680 20 2 ||a Q86 ~ 954 3NS3 400 00 1
v QT983 + v A4 INXN-4 1100 100 1 | |v KQB5 v AT43 1SN6 230 50 1
¢ AK73 o T + KQ974 ¢ T52 4CN6 170 6.0 1
& K8 S » T65 a4 » 982 2NS3 150 6.0 1
o ¢VABN 463 oI VAN 4T3
N11~~~ @7 N 6~~64 »J987
S 11~~~ ¢J86542 S 6~~64 ¢ AJ63
E ~~253 #7432 E ~1~~~ &J65
W ~~255 W ~1~~~




